ANTHROPOGENIC INFLUENCES ON RUNNING WATER HYDROMORPHOLOGY AND WATER QUALITY

In what way the measurement of the abiotic factors of a river can guide you?

About quality of water

About the age of the river

About the kind of flora and fauna that you can expect to live in

All of the above

What are the physicochemical parameters vital to living organisms that human activities affect?

Conductivity

Nitrogen and Phosphorus

Discharge

Heavy metals

What is the effect of female steroid abuse, coming from contraceptive pills & domestic detergents, on trouts?

The male trouts loose their fertility

The male trouts produce egg yolk proteins normally found in female fish

The proportion of male trouts decreases

None of the above

What creatures are at risk during short exposure to Cu and Cd?

Crustaceans

Gastropods

Fish

All of them

What is the effect of blooming periods in lakes on PCBs contamination levels in plankton?

PCBs level increases with the biomass

PCBs are diluted in the increased biomass

The level of PCBs is the same even with the increasing of biomass

None of the above

The phenomenon of biomagnification likely occurs in the case of xenobiotics with a high affinity for:

Carbohydrates

Lipids

Proteins

All of the above

What is the dominant uptake pathway of metal accumulation for microcrusteans?

Adsorption on surfaces

Food

The both occur as the same level

None of the above

A river is divided into three main parts, in which part would you find the majority of species are shredders and collectors?

Head 

Middle 

Mouth

The same in all of them

Allochtonous: what is it?

Matter and waste from sediment
Organic matter from sediment
Organic matter from terrestrial media
None of the above

When New Zealand built their dams, it caused a problem. What was it?

It caused major flooding

Fish species became mutated

Migration of Eels was stopped

Stopped movement of fish

Looking a question 3 what other problem in dams could this cause for fish

Salmon died off before they could spawn

Perch became the predominate predator

This indirectly favoured trout

I have a water content that is high in nutrients, how would this affect me?

I would feel extremely healthy

It would cause extra hair growth 

It would be imprudent for me to drink it 

None of the above

If I was told that my water in my swimming pool, had been found to have a coliform bacterial colony of 200/100mg. Would I?

Change my water filter 

Go to the doctor thinking I had been poisoned 

Enjoy a leisurely swim

None of the above

When was the most recent WFD document?

Was it 2005

Was it 2004 

Was it 2000

Was it 1999

Though the production of many toxic pollutants has been stopped, would you say that they are no longer polluting our rivers and streams?

Yes, small contamination remains

Yes, high levels of contamination can still be found at certain times

No there is no further pollution in our rivers 

Yes so get a radiation jab

Hydro morphology, Physicochemical and Biology of running water.

CO2 is either a product or required to start a reaction in which of the following processes?

Animal respiration. (X)

Transpiration. (X)

Photosynthesis. (X)

Evaporation.

Which of the following form an effective system which resists changes in pH?

Hydrocarbons.

CO2. (X)

Carbonic Acid. (X)

Bicarbonate. (X)

What is the equilibrium CO2?

Good balanced supply of CO2 in atmosphere.

The amount of carbon in rock pools.

The amount of CO2 required to maintain HCO3 in solution. (X)

The amount of CO2 required to maintain CO2 in solution.

CO2 reaches plants through which process?

Diffusion. (X)

Evaporation.

Osmosis.

Gravity.

Pollution can give CO2 a partial pressure in water which can be up to ________ times that of atmospheric pressure.

5

10

15

20 (X)

Finish this sentence: In highly productive waters (slow moving rivers with abundant macrophytes):

CO2 is elevated and O2 is reduced during the day, reverse happens at night.

O2 is elevated and CO2 is reduced during the day, reverse happens at night. (X)

O2, CO2 levels both decrease.

O2, CO2 levels both increase.

What is the wrinkler method?

Measure CO2.

Measure O2. (X)

Measure Nitrates.

Measure Potassium.

The E. U. Directive say dissolved O2 saturation should not fall below:

25%

50%

75% (X)

85%

A BOD level of 6-9 is thought to be:

Organic enrichment

Very good

Moderately clean

Some what polluted (X)

Very polluted

A hydrometer is used to measure?

Density of water (X)

BOD

CO2

PH reading

Which is the main way aquatic organisms accumulate PCBs?

Through direct uptake from the water.

Through ingestion of contaminated food.

Both ways.

None of the above

Which are the main classes of pollutants for an aquatic ecosystem?

Inorganic pollutants

Chemical cancerogens

Sewage

All of the above

Which effects may pollutant have on aquatic systems?

Support of metabolism processes of aquatic vertebrates.

Decreasing oxygen levels in the water.

Toxic effects on aquatic invertebrates.

All of the above

Which effects may lockfuls have on the aquatic environment downstream?

Modification in the representation of functional groups.

Thriving of some species because of the lack of predators and competitors.

Instability of the substrate.

Decrease of the heterogeneity of habitats. 

Show with a horizontal arrow how the toxicity of metals is increasing.
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